CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES REPORT CARD PPE REPORT 2017-18

DISTRICT: 162 WINCHESTER

PER-PUPIL EXPENDITURES

CODE	SCHOOL NAME	FEDERAL FUNDS	STATE, LOCAL AND OTHER FUNDS	TOTAL
1620411 1625111	Batcheller Early Education Cen Pearson School	1,005 1,039	27,321 23,560	28,326 24,599
TOTAL DIS	TRICT EXPENDITURES	468	19,849	20,317

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES REPORT CARD EXPANDED PPE REPORT 2017-18

DISTRICT: 162 WINCHESTER

PER-PUPIL EXPENDITURES

CODE	SCHOOL NAME	EXPENDITURES	PUPILS	FED	ST/LOC	PRI/OTH	SCHL PPE	CENTRAL	TOT PPE
1620411	Batcheller Early Education Cen	4,764,283	229	1,005	19,412	388	20,805	7,521	28,326
1625111	Pearson School	5,089,019	298	1,039	15,954	85	17,077	7,521	24,599
TOTAL SCH	HOOL EXPENDITURES	9,853,302	527	1,024	17,457	216	18,697	7,521	26,218
DISTRICT	CENTRAL EXPENDITURES	3,963,800	527	0	7,455	67		7,521	
OUTPLACED	O/OUT OF DISTRICT PUPILS	9,608,612	626	0	15,349	0			15,349
TOTAL DIS	STRICT EXPENDITURES	23,425,713	1,153	468	19,720	129			20,317

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES SCHOOL LEVEL PPE COMPARISON BY FUNCTION REPORT 2017-18

DISTRICT: 162 WINCHESTER

PER-PUPIL EXPENDITURES

CODE	SCHOOL NAME		HIGH GRADE	ENROLL	PCT HI NEED	INSTR- UCTION	SUPPORT SVCS	IMPROV INSTR	LIBR SVCS	SUPPORT INSTR	SCHOOL ADMIN	PLANT OPS	TRANSP NOTHOME	ENTERP OPS	MINOR CONST	TOTAL
1620411	Batcheller Earl	PK	02	229	63	15,628	1,877	443	0	0	1,165	1,692	0	0	0	20,805
1625111	Pearson School	03	06	298	64	12,349	1,049	409	0	0	1,500	1,771	0	0	0	17,077

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES SCHOOL LEVEL PPE COMPARISON BY OBJECT REPORT 2017-18

DISTRICT: 162 WINCHESTER

PER-PUPIL EXPENDITURES

CODE	SCHOOL NAME		HIGH GRADE	ENROLL	PCT HI NEED	SALARIES	EMPLOYEE BENEFITS	PURCH SVCS	SUPPLIES	PROPERTY	OTHER	TOTAL
	Batcheller Early Educatio		02	229	63	12,132	3,692	2,718	1,247	1,005	12	20,805
1625111	Pearson School	03	06	298	64	9,854	3,344	1,583	1,035	1,250	12	17,077

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES DISTRICT LEVEL PPE BY FUNCTION REPORT 2017-18

DISTRICT: 162 WINCHESTER

			PUPIL	
FUNCTION	EXPENDITURES	PUPILS	BASIS	PPE
INSTRUCTION	17,599,908	1,153	1	15,264
SUPPORT SERVICES - STUDENTS	1,280,103	527	2	2,429
SUPPORT SERVICES - INSTRUCTION	223,269	527	2	424
SUPPORT SERVICES - GENERAL ADMIN	557,184	527	2	1,057
SUPPORT SERVICES - SCHOOL ADMIN	753,554	527	2	1,430
CENTRAL AND OTHER SUPPORT SERVICES	474,083	527	2	900
OPERATION AND MAINTENANCE OF PLANT	1,039,637	527	2	1,973
STUDENT TRANSPORTATION SERVICES	1,447,975	792	3	1,828
FOOD SERVICES	50,000	527	2	95
ENTERPRISE OPERATIONS	0	527	2	0
MINOR SCHOOL CONSRUCTION	0	527	2	0
TOTAL	23,425,713	1,153	1	20,317

- 1 ENROLLMENT PLUS OUTPLACED PUPILS
- 2 ENROLLMENT IN DISTRICT SCHOOLS
- 3 TOTAL PUPILS TRANSPORTED

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES DISTRICT LEVEL PPE BY OBJECT REPORT 2017-18

DISTRICT: 162 WINCHESTER

			PUPIL	
OBJECT	EXPENDITURES	PUPILS	BASIS	PPE
SALARIES	7,442,879	527	2	14,123
EMPLOYEE BENEFITS	2,145,418	527	2	4,071
PURCHASED SERVICES	2,947,926	527	2	5,594
TUITION	9,608,612	626	4	15,349
SUPPLIES	607,175	527	2	1,152
PROPERTY	649,720	527	2	1,233
OTHER	23,984	527	2	46
TOTAL	23,425,713	1,153	1	20,317

EXPENDITURES EXCLUDE FOOD SERVICES NOT FUNDED BY LOCAL FUNDS, DEBT, CAPITAL (OTHER THAN MINOR SCHOOL CONSTRUCTION AND EQUIPMENT), ADULT EDUCATION, COMMUNITY SERVICES, AND STATE CONTRIBUTIONS TO TEACHERS RETIREMENT. ALL AMOUNTS INCLUDE REGULAR AND SPECIAL EDUCATION.

PUPIL BASIS

- 1 ENROLLMENT PLUS OUTPLACED PUPILS
- 2 ENROLLMENT IN DISTRICT SCHOOLS
- 4 OUTPLACED PUPILS

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES OUTPLACEMENT PPE REPORT 2017-18

DISTRICT: 162 WINCHESTER

TUITION TYPE	EXPENDITURES	PUPILS	PPE
TUITION FOR DESIGNATED HS	6,475,000	481	13,462
TUITION FOR INTERDISTRICT MAGNET	138,345	51	2,713
OTHER PUBLIC AND PRIVATE TUITION	2,995,267	94	31,865
TOTAL TUITION	9,608,612	626	15,349